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11 104. 4 2.3 21.9| 101.5 7.8 5.2 108.6 -3. 33.5 101.9 6. 31.1
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Peq 10000 2667 2081 756 329 417
184F [[100. 8 -0.4 ]96.9 -1.3 |103.9 -0.5 195.3 4.4 [111.5 -2.4 193.2 2.2
194F [ 100. 6 -0.2 |97.1 0.2 |102.1 -1.7 | 96.7 1.5 [109.6 -1.7 | 96.8 3.9
204 [1102. 4 1.8 |100.2 3.2 |102.5 0.4 |104.5 8.0 |109.8 0.2 |96.5 -0.3
214F [101. 1 -1.3 [100.5 0.3 [102.5 0.0 |99.9 -4.4 |106.9 -2.7 199.0 2.5
224 1100. 0 -1.1 |100.0 -0.5 |100.0 —2.4 1100.0 0.1 |100.0 —6.4 |100.0 1.0
234 [ 99. 8 -0.2 | 99.8 -0.2 [99.1 -0.9 |103.3 3.3 97.3 -2.8 | 99.2 -0.8
23/10][100. 0 0. 0.1 |100.4 1.7 0.4 198.9 0.0 -0.4 |104.8 0.2 3.8 197.1 1.0 -1.9 (101.7 -0.1 0.2
11 (99.4 -0.6 -0.3 |98.5 -1.9 -1.8198.9 0.0 -0.4 |106.1 1.3 5.4 196.2 -0.9 -2.8 [101.8 0.1 0.
12 99.5 0.1 -0.1199.0 0.6 -0.6 [98.8 -0.1 -0.5 |106.3 0.1 5.7 193.9 -2.4 -3.8(99.9 -1.9 0.0
24/1 (100. 1 0.7 0.4 |101.4 2.3 0.7 198.8 0.0 -0.4 |106.1 -0.2 5.6 |100.0 6.4 1.2 {97.3 -2.6 -0.3
2 [100.1 0.0 0.5 |101.1 -0.3 0.5 198.8 0.0 -0.5 |106.1 0.0 5.4 199.6 -0.4 0.7 |197.6 0.3 0.2
3 [100.5 0.4 0.8 |101.2 0.1 1.0 [98.8 0.0 -0.5 |106.8 0.7 5.4 198.5 -1.1 -1.2 [97.9 0.3 2.0
4 (100.4 -0.1 0.7 199.8 -1.3 0.0 ]198.8 0.0 -0.5 |107.3 0.4 5.4 198.9 0.4 0.1 |100.5 2.7 1.0
5 [100.3 -0.1 0.3 |100.2 0.4 0.4 198.7 -0.1 -0.5 [107.4 0.1 4.7 198.0 -0.9 0.6 199.3 -1.2 0.0
6 99.7 -0.6 -0.1(99.2 -1.0 -0.3 |98.7 0.0 -0.4 |107.5 0.1 4.4 196.9 -1.0 -0.2 199.1 -0.3 -0.3
7 99.5 -0.3 -0.7 [98.7 -0.6 -1.7 |98.7 0.0 -0.4 |107.8 0.3 4.0 [97.9 1.0 0.9 197.9 -1.2 -0.6
8 99. 8 0.3 -0.3199.2 0.6 -0.5(98.6 -0.1 -0.3 |108.5 0.7 4.1 196.2 -1.8 0.4 197.8 -0.1 0.7
9 99.6 -0.1 -0.1 [98.4 -0.8 -0.3 |98.6 0.0 -0.3 |108.4 -0.1 3.6 |197.3 1.2 1.2 {101.7 4.0 -0.1
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VEXA 445 1409 261 1062 572
184E [ 101.8 -0.4 [100.4 -0.1 |124.6 0.7 |106.4 -1.3 199.0 -2.3
194E [[101. 5 -0.3 |100.4 0.0 |125.2 0.5 |105.1 -1.2 199.4 0.4
204F [ 101. 2 -0.3 [103.0 2.6 [125.7 0.4 [104.5 -0.5 [99.4 0.0
214 {1100. 0 -1.2 | 98.2 -4.7 |126.4 0.5 |102.0 -2.4 198.5 -0.9
22£|i 100. 0 0.0 |100.0 1.8 |100.0 -20.9 1100.0 -2.0 |100.0 1.5
234 [ 99. 2 -0.8 [102.0 2.0 [93.7 -6.3 | 96.0 ~4.0 |104.1 4.1
23/10[98.5 -0.1 ~—1.8 |100.9 ~-1.1 2.0 193.7 0 -0.2]96.5 -0.5 -2.6 [104.0 0 -0.7
11 |98.6 0.1 -1.1|101.3 0.4 2.293.7 0.0 -0.2|94.3 -2.3 -3.6 |104.5 0. 0.0
12 (98.0 -0.6 -1.5 [102.3 1.0 2.4 193.7 0.0 -0.2193.9 -0.4 -4.2 |104.4 -0.1 0.1
24/11(98.7 0.7 -1.0 |102.6 0.3 2.3 193.7 0.0 -0.2192.9 -1.1 -3.8 |104.2 -0.1 -0.2
2 [98.4 -0.4 -1.4 {1020 0.7 1.9 [93.7 0.0 -0.2 |94.9 2.3 -1.2 1041 -0.2 -0.1
3 98.2 -0.2 -1.0 [103.6 1.6 1.5 [93.7 0.0 -0.2 |95.8 0.9 -0.3 [104.2 0.2 0.2
4 [98.6 0.4 -0.9 {1043 0.7 1.5[943 0.7 0.5[95.6 -0.2 1.4 [1043 0.1 0.2
5 98.5 -0.1 -1.7 (103.4 -0.9 0.3 194.3 0.0 0.7 |96.1 0.5 -0.4 [104.0 -0.3 0.0
6 [97.9 -0.6 -2.1 [102.1 -1.2 -0.4 [94.3 0.0 0.7 |95.3 -0.8 -1.1 [1040 0.0 0.0
7 |97.8 -0.1 -1.2 |10.5 -0.5 -1.6 [94.3 0.0 0.7 |94.9 -0.4 -1.8 [103.9 -0.1 0.4
8 97.7 -0.1 -1.3 [101.7 0.1 -1.9 [94.3 0.0 0.7 196.5 1.6 -1.2 [103.9 0.0 -0.1
9 [98.1 0.4 -0.5{102.3 0.6 0.2 ]943 0.0 0.7 [941 -2.4 -3.0[1041 0.2 0.2
10 |98.2 0.1 -0.3 [102.6 0.3 1.7 |94.3 0.0 0.7 |94.1 0.0 -2.5 |103.8 -0.3 0.2
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SR 184 100. 7 0.3 100. 8 -0.4 100. 0 0.5
19 100. 7 0.0 100. 6 -0.2 100. 1 0.1
20 102. 1 1.4 102. 4 1.8 101. 7 1.6
21 100. 7 -1.4 101.1 -1.3 100. 5 -1.2
22 100. 0 -0.7 100. 0 -1.1 100. 0 -0.5
23 99. 7 -0.3 99. 8 —0. 2 99.6 -0.4
% 234510 A 100. 0 0.1 -0.2 100. 0 0.3 0.1 100. 0 0.2 -0.3
11 99.4 -0.6 -0.5 99.14 -0.6 -0.3 99.6 -0.4 -0.3
12 99.4 0.0 -0.2 99.5 0.1 -0.1 99.7 0.1 0.4
R 244 1 H 99.6 0.2 0.1 100. 1 0.7 0.4 100. 3 0.6 1.1
2 99.8 0.2 0.3 100. 1 0.0 0.5 100. 0 -0.3 0.8
3 100. 3 0.5 0.5 100. 5 0.4 0.8 100. 4 0.4 0.9
4 100. 4 0.1 0.4 100. 4 -0.1 0.7 100. 3 -0.1 0.6
5 100. 1 -0.3 0.2 100. 3 -0.1 0.3 100. 1 -0.2 0.4
6 99.6 -0.5 -0.2 99.7 -0.6 -0.1 99.8 -0.4 0.3
7 99.3 -0.3 -0.4 99.5 -0.3 -0.7 99.8 0.0 0.1
8 99.4 0.1 -0.4 99.8 0.3 -0.3 100. 1 0.3 0.2
9 99.6 0.1 -0.3 99.6 -0.1 -0.1 100. 1 0.0 0.3
10 99.6 0.0 -0.4 99.6 0.0 -0.4 100. 2 0.0 0.2
fif] (L ifi IS I i (L [N [ifi
T | A T T A T | A
® A | #% (MR) | 8 % (MR) | 8 % (I711)
LRk R LRk R LRk R
(%) | (%) (%) | (%) (%) | (%)
S 184 100. 5 0.4 100. 3 0.2 101.5 -0.1
19 100. 8 0.3 100. 4 0.1 100.9 -0.6
20 102.5 1.7 102. 3 1.9 102. 3 1.4
21 100. 8 -1.7 101.0 -1.3 100. 7 -1.6
22 100. 0 -0. 8 100. 0 -1.0 100. 0 -0.7
23 100. 1 0.1 100. 1 0.1 99. 4 -0.6
Rk 234£10H 100. 6 0.2 0.3 100. 2 0.0 0.0 99.3 0.1 -1.0
11 100. 0 -0.5 -0.1 99.7 -0.5 -0.3 98.8 -0.5 -1.1
12 99.7 -0.3 -0.3 99.6 -0.1 -0.5 98.7 -0.1 -0.8
k244 1H 100. 0 0.3 0.2 100. 0 0.4 0.0 99.2 0.5 0.0
2 100. 1 0.0 0.2 100. 2 0.3 0.1 99.3 0.1 -0.1
3 100. 3 0.2 0.1 100. 8 0.6 0.7 99.6 0.3 0.0
4 100. 3 0.0 0.1 100. 5 -0.3 0.3 100. 0 0.4 0.2
5 100. 3 -0.1 -0.1 100. 2 -0.3 0.0 99.7 -0.2 -0.2
6 100. 1 -0.2 0.1 99.7 -0.5 -0.5 99. 2 -0.5 -0.3
7 99.7 -0.4 -0.6 99.6 -0.1 -0.8 98.8 -0.5 -0.8
8 99.8 0.1 -0.4 99.5 0.0 -0.6 99.0 0.2 -0.5
9 99.9 0.1 -0.4 99. 4 -0.1 -0. 8 98.9 0.0 -0.5
10 99.9 0.0 -0.7 99. 14 0.0 -0.8 99.1 0.1 -0. 2
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24/1100.1 | 99.8 [100.3 | 99.9 | 98.7 [101.4 :101.9 i102.3 : 98.2 | 98.1 i104.3 {113.7 :102.0 :100.6 i100.1 {100.4 : 99.4 :100.0
2 |100.1 [ 99.9 |100.3 [100.0 | 98.9 [101.1 {101.9 | 98.3 { 98.7 { 98.7 i104.3 i115.2 {102.0 {100.3 :100.8 { 98.7 : 99.6 | 99.9
3 100.5 [100.2 [100.7 |100.4 | 99.0 |101.2 :102.4 {101.4 : 98.2 { 99.2 :103.0 {115.7 $102.4 | 98.5 i{101.1 { 99.3 { 99.1 | 99.9
4 |100.4 [100.5 |100.6 [100.7 | 99.2 | 99.8 {102.1 {100.9 { 99.0 { 98.8 { 98.3 { 99.8 { 98.8 { 98.2 {101.0 | 99.5 i100.2 | 99.9
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6 99.7 199.8 [ 99.9 |100.0 | 98.8 | 99.2 {101.9 {103.5 { 98.0 { 98.5 { 91.8 {105.4 { 98.4 | 98.4 {100.3 | 95.9 { 98.1 ({100.3
7 99.5 1 99.7 [99.5]99.8 [ 98.7 | 98.7 {101.9 {103.6 : 97.9 { 98.5 : 89.3 { 95.8 { 98.3 | 96.9 i101.3 | 98.1 { 99.6 :100.3
8 99.8 [ 99.9 [ 99.9 |100.1 [ 99.0 | 99.2 101.1 {103.3 : 97.9 { 98.5 { 92.0 {100.1 { 98.1 | 97.7 i{101.9 | 97.8 { 99.9 :100.5
9 99.6 [100.1 | 99.7 |100.3 | 98.8 | 98.4 {100.1 i101.1 : 97.6 { 98.5 { 88.9 { 85.3 { 99.1 {101.5 {103.1 | 97.9 i100.0 :100.5
10 [ 99.6 |100.0 | 99.7 |100.2 | 98.7 | 98.3 :103.8 {100.6 : 97.3 { 98.6 : 91.3 { 86.5 : 99.3 { 98.6 :101.5 { 96.8 : 97.7 {100.5
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23/10| 98.9 { 98.8 : 99.9 [104.8 i105.9 {104.2 i118.8 i100.0 | 97.1 { 94.7  86.8 108.4 i101.4 { 96.5  99.5 [101.7 i108.4 i105.9 | 108.5
11 98.9 { 98.7 {100.7 |106.1 {106.0 {104.8 i118.8 i104.7 | 96.2 { 92.7 { 82.7 {107.8 i{101.2 { 97.0 { 99.5 [101.8 i108.9 105.9 i 109.0
12 98.8 { 98.7 {100.3 |106.3 {106.0 {105.1 {119.7 i104.7 [ 93.9 { 87.7 { 78.8 {103.2 i{100.9 { 96.7 { 99.5 | 99.9 i106.1 {105.9 i 106.1
24/1 1 98.8 : 98.7 i100.3 |106.1 i105.6 105.0 :119.7 i104.7 [100.0 :101.5 } 81.3 i110.9 :104.2 : 97.9 1 99.5 | 97.3 : 99.8 :105.9 99.5
2 98.8 { 98.7 i100.2 |106.1 i105.6 {105.1 :119.7 i104.7 [ 99.6 ; 99.3 { 81.3 {109.1 i104.9 { 98.9 { 99.5 | 97.6 :100.6 :105.9 : 100.4
3 98.8 { 98.7 i100.2 |106.8 :105.8 {105.7 :127.2 i104.7 [ 98.5 { 96.8 { 84.1 {108.9 {103.7 { 98.0 { 99.5 | 97.9 i101.8 105.9 | 101.7
4 98.8 { 98.6 :100.9 |107.3 106.3 {105.9 :130.8 i104.7 [ 98.9 { 97.5 { 84.6 {111.3 {104.7 { 97.1 { 99.5 [100.5 i104.7 {105.9 i 104.7
5 98.7 {98.5 i100.9 |107.4 (106.3 i106.8 :128.6 i104.7 [ 98.0 { 94.5 { 85.8 {111.3 {104.3 | 97.2 { 99.5 | 99.3 i103.4 {105.9 i 103.3
6 98.7 {98.5 i100.9 |107.5 {106.9 i107.0 :125.0 i104.7 [ 96.9 : 92.0 { 83.4 {114.2 {104.4 | 96.3 { 99.5 | 99.1 i103.0 :105.9 i 102.9
7 98.7 {98.5 i100.8 |107.8 :107.7 {107.2 :123.7 i104.7 [ 97.9 { 92.6 { 88.8 {118.3 {104.7 { 96.6 { 99.5 [ 97.9 i102.5 {105.9 i 102.3
8 98.6 { 98.5 i100.3 |108.5 109.2 {107.4 :123.7 {104.7 | 96.2 | 88.7 i 83.9 {123.5 {103.4 | 96.1 { 99.5 | 97.8 {104.7 {105.9 { 104.7
9 98.6 { 98.5 i100.1 |108.4 i108.6 {107.4 :126.3 {104.7 [ 97.3 { 89.3 { 88.9 i{124.4 {104.7 { 96.9 { 99.5 [101.7 {107.2 i{105.9 | 107.2
10 98.6 | 98.4 i100.9 [108.1 i107.6 (107.5 i127.7 i104.7 | 97.0 { 89.3 | 84.7 124.2 i104.7 { 97.2 { 99.5 [101.8 i108.3 105.9 | 108.4
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23/10| 97.9 i101.5 { 90.9 | 94.8 i 96.1 i 98.4 | 98.5 { 98.1 | 96.2 | 99.7 [100.9 {100.8 :101.8 : 99.3 | 93.7 | 94.3 {100.1 i 92.3
11 98.2 i100.7 { 93.3 { 92.5 { 95.0 i100.2 | 98.6 { 98.1 i 96.7 { 99.7 |101.3 i{100.0 {102.2 {100.1 | 93.7 { 94.3 i100.1 i 92.3
12 96.8 { 98.5 1 93.3 ¢ 92.4 ¢ 90.9 (100.3 | 98.0 : 96.5 i 96.1 i 99.7 |102.3 ${102.3 {103.5 {100.1 | 93.7 { 94.3 i100.1 { 92.3
24/1 1 97.1 1 99.1 | 93.1 { 89.9 { 94.8 : 99.5 | 98.7 { 98.3 | 96.5 | 99.9 [102.6 i102.3 i104.1 i{100.0 | 93.7 i 94.3 i{100.1 i 92.3
2 95.2 1 97.5 ¢ 90.9 ¢ 89.9 : 98.8 :101.7 | 98.4 : 98.0 i 95.0 i 99.9 |102.0 : 99.9 :103.6 : 99.5 | 93.7 : 94.3 i100.1 ; 92.3
3 94.9 { 96.4 ¢ 91.8 : 90.5 : 97.9 :100.3 | 98.2 : 97.3 i 95.4 { 99.9 |103.6 :101.7 :106.0 : 99.5 | 93.7 : 94.3 :100.1 { 92.3
4 99.9 i104.1 ¢ 91.6 ¢ 90.5 ¢ 97.9 :100.3 | 98.6 : 97.7 i 96.2 i100.1 |104.3 :100.6 :107.4 : 99.7 | 94.3 ¢ 95.2 i102.7 i 92.3
5 98.4 {101.1 { 93.0 ¢ 89.7 : 98.4 { 98.1 | 98.5 { 98.4 i 94.5 {100.1 |103.4 :100.9 :105.7 { 99.7 | 94.3 | 95.2 {102.7 | 92.3
6 97.4 i100.3 ¢ 91.5 ¢ 89.3 ¢ 98.7 :100.7 | 97.9 ¢ 96.9 { 94.0 i100.1 |102.1 {100.4 {103.7 ¢ 99.5 | 94.3 ¢ 95.2 i102.7 { 92.3
7 95.4 1 97.2 1 91.9 { 89.3 { 96.6 : 98.1 | 97.8 { 97.2 ¢ 92.9 i100.1 |101.5 {102.6 {102.6 : 99.0 | 94.3 { 95.2 {102.7 { 92.3
8 91.2 1 90.8 + 91.9 ¢ 89.7 { 98.7 { 99.2 | 97.7 { 96.8 i 93.1 i{100.1 |101.7 {107.0 {102.1 { 99.0 | 94.3 | 95.2 i102.7 i 92.3
9 99.6 i102.8 { 93.3 { 90.1 { 99.5 :101.7 | 98.1 { 97.8 { 93.7 i{100.1 |102.3 :{100.6 :104.3 : 99.0 | 94.3 { 95.2 {102.7 i 92.3
10 99.6 i103.4 : 92.1 { 90.1 { 99.2 { 98.1 | 98.2 { 98.3 { 93.5 i{100.0 [102.6 {100.5 {104.9 : 98.9 | 94.3 { 95.2 i{102.7 i 92.3
B8
23 E ES 23 23 5
3 # # & # B B 1 7= il L % #
7% o = ¥ % =) .
ol OB o | k| M s | H . N I
o " s " A w =8 i
R I R I : ’ N i
I . )il e 23
0\ J:H ﬁ” 1= = J:H 477% 477%
ES %) i L/ A ® A i i Z =4 | # # #
23/10| 96.5 i 74.3 | 96.5 i{100.3 i100.5 |104.0 | 99.4 | 98.8 {100.0 {126.2 :105.2 [105.7 | 94.8 | 96.7 [100.0
11 94.3 ¢+ 71.3 { 92.8 i100.4 { 98.5 |104.5 i 99.4 :100.4 :101.0 i126.2 :105.2 [105.8 | 94.8 | 94.5 | 99.6
12 93.9 { 68.2 i 95.5 {100.5 { 97.5 |104.4 | 99.4 { 99.4 i102.5 {126.2 i{105.2 [107.2 | 95.0 | 94.5 | 99.6
24/1 1 92.9 | 62.3 | 95.9 i100.5 | 96.8 [104.2 | 99.4 | 98.8 {102.5 {126.2 i105.2 |107.1 | 95.2 | 93.5 | 99.5
2 94.9 ¢ 82.4 ¢ 95.5 i100.5 { 96.3 |104.1 { 99.4 { 98.4 :101.4 :126.2 :105.2 [106.6 | 95.0 | 95.1 | 99.6
3 95.8 + 82.7 + 97.3 1100.6 i 97.1 |104.2 { 99.4 { 98.8 i102.1 i{126.2 :105.2 [109.8 | 95.1 | 96.2 | 99.5
4 95.6 ¢ 79.3 { 96.7 :{100.7 : 97.6 |104.3 { 99.4 { 99.3 :102.1 i{126.2 :105.2 [111.5 | 95.6 | 95.7 | 99.5
5 96.1 + 79.1 + 94.2 1100.8  99.4 |104.0 : 99.4 { 98.2 i101.8 i{126.2 :105.2 [109.8 | 95.7 | 96.3 | 99.5
6 95.3 1 74.7  94.3 1100.8 { 98.9 |104.0 { 99.4 : 98.1 :101.8 {126.2 :105.2 [107.9 | 95.7 | 95.5 | 99.5
7 94.9 + 70.0 { 93.4 :100.8 { 99.6 |103.9 { 99.4 : 97.5 :101.8 {126.2 :105.2 [107.6 | 95.7 | 95.4 | 99.5
8 96.5 i 64.3 i 95.0 i101.0 i{103.0 |103.9 { 99.4 i 97.3 i102. 1 i{126.2 i105.2 [107.7 | 95.7 | 97.5 | 99.5
9 94.1 1 64.9 1 92.0 i101.0 § 99.7 |104.1 { 99.4 { 98.3 i102.1 i126.2 :105.2 [109.8 | 95.7 | 94.3 | 99.5
10 94.1 ¢ 66.2 i 92.7 {101.0 ¢ 99.2 |103.8 { 99.4 i 97.1 i102.1 i{126.2 :105.2 [109.7 | 95.7 | 94.3 | 98.7




